N = 0l & At & M A

2M A=A
3 MsaY |4
Sl HMS NE 2 X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
AR A D} 5,975,035 6,075,972 A 100,937
= 52,402
Xl 320,000
J| 183,540
< 31,360
s 5,387,733
Moy 84 5,622,773 5,711,414 A 88,641
Xl 320,000
J| 183,540
< 5,489
[ia 5,113,744
s ds 2 XA 2,530,052 2,518,415 11,637
= 2 g 150,000 150,000 0
307 21201 A 150,000 150,000 0
04 QIZFHALAIH B = 150,000 150,000 0
O&dYEo & dZu =2 =1 iUzl 150,000
d= HAAZ Ha 190,000 340,000 A 150,000
307 glz2tol & 190,000 340,000 A 150,000
04 DIZHHALALSE 2 X 190,000 340,000 A 150,000
Od=3 HAZ dA U3 190,000
A= =&A7 U3 40,000 40,000 0
307 glz2tol & 40,000 40,000 0
04 QIZFHALALH 2 = 40,000 40,000 0
O&= =&A3 U3l 40,000
= ot SRS 180,000 180,000 0
307 21201 A 180,000 180,000 0
04 QIZFHALAIH B = 180,000 180,000 0
O&= ot SLR=UHE 180,000
=2 s20E 240,000 220,000 20,000
307 21201 A 240,000 220,000 20,000
04 QIZFHALAIR B &= 240,000 220,000 20,000
OMBCHH & =0Hs =2l 130,000
Od= 81 =7 d==3& U 110,000
d= =7 3l 310,000 270,000 40,000
307 21201 A 310,000 270,000 40,000
04 QIZFHALAIH B = 310,000 270,000 40,000
O&=10sstu =3 Hal 270,000
OR=Z (8 Sot2I=E7 Of3 40,000
d=2 HHERQIE 3l 160,000 0 160,000
307 glz2tol & 160,000 0 160,000
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04 DIZHH AL AR 2 & 160,000 0 160,000
O&=2 =D HECSIHE H3a 160,000
A HHEoE a 10,000 10,000 0
307 gizto| A 10,000 10,000 0
04 CIZ2tSHALALSE B = 10,000 10,000 0
OFHES & A& HHEQIE U3 10,000
A A=Wa 5,000 5,000 0
307 212t0| & 5,000 5,000 0
04 CIZ2HSHALALS B X 5,000 5,000 0
OFUEo & A2 A& 3 5,000
A& HLULA B3l 5,000 5,000 0
307 2Iz2t0| & 5,000 5,000 0
04 SIZ2HSHAAISH E & 5,000 5,000 0
OddEo & A2 HLA 3 5,000
I HOIE=E Ua 10,000 10,000 0
307 2iz2to| A 10,000 10,000 0
04 OIZ2tSHAFAFS B X 10,000 10,000 0]
OFUdE9 & A& HOIE=E U 10,000
= .otH 8MAEH 100,000 150,000 A 50,000
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O - otH EXEd SXN(AEE 2/11) 100,000
MEHE S0IYE 3 30,000 30,000 0]
307 2I2t0| & 30,000 30,000 0
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01 2Ll 2,400 2,400 0
o= M=Ua &Il NE S
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OFYMNE & T HM=sUal &I NS S
60,000 x4 x5 1,200
2EMESUHIS XX 104,900 98,320 6,580
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o HSMY K4
©e: HMS N2 2 XE (29l & 2)
SA-3H-S(3AH) - MRAS - BES Off &t 24 %Ei Hns2
307 21201 & 10,000 10,000 0
RS 10,000 10,000 0
OF= MSHE 2 AAMF &I M4 X2 10,000
Y AW MBISSYUEY S0t X8 3,000 3,000 0
307 2120l & 3,000 3,000 0
04 QIS AN BT 3,000 3,000 0
Oy HAE MBHSBYHE &It 3,000
=0 MEHKHE X & 7,000 7,000 0
307 21201 & 7,000 7,000 0
04 DIZHSAA S 2 X 7,000 7,000 0
ORl125] =QIMSSHE Ot 7,000
d= YT o9 MSHE X 20,000 20,000 0
307 2120l & 20,000 20,000 0
04 QIZFEAFALRY & T 20,000 20,000 0
O% =9 MSHa &It 20,000
2 o9 MSHE N 20,000 20,000 0
307 8120l & 20,000 20,000 0
04 DI AIALS S T 20,000 20,000 0
Oz =9 MSHal HE 20,000
O MEHSHSE X2 70,000 70,000 0
307 212¢0I & 70,000 70,000 0
04 QI AN BT 70,000 70,000 0
OR295 S0 MEHSUSH &0 70,000
HeteE MS0E &0 X 140,000 130,000 10,000
307 21201 & 140,000 130,000 10,000
04 QIZFEA AL T 140,000 130,000 10,000
OX5638l FatdE MS0E &It 140,000
HMete T ZOHQ MSHE &I N 20,000 20,000 0
307 2120l & 20,000 20,000 0
04 QIZEEAFALR! & T 20,000 20,000 0
ORI258] ®eteE HoHel MSTHE &It 20,000
HRHE NHZESH X 4,000 4,000 0
307 2120l & 4,000 4,000 0
04 RIS AA S 2 X 4,000 4,000 0
OFINE NHHZAESH X & 4,000
%Y FCX & 200,000 180,000 20,000
307 212+0I & 200,000 180,000 20,000
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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 QI AAIE E X 200,000 0 200,000
OY&FC U-15 X & 100,000
OYZ&FC U-18 X & 100,000
MEYHE S=2=4 NI ALY 200,000 0 200,000
307 2Iz2t0| A 200,000 0 200,000
02 QIZHEAAIRE E X 200,000 0 200,000
OFYHNE s5s4 I 200,000
d=2 2% U3 40,000 0 40,000
307 2iz2to| & 40,000 0 40,000
04 QIZ2tSHAFALS B X 40,000 0 40,000
o= 2% 3 40,000
MEH=s &0 =20 366,881 303,880 63,001
J| 183,540
= 5,489
= 177,852
UBIMEB SN X (BSXL) 128,040 127,440 600
J| 64,020
= 64,020
307 gizto| A 128,040 127,440 600
J| 64,020
= 64,020
02 QI2tAAMAIE E =X 128,040 127,440 600
Ot MESK X BHXIAFE (5H) 128,040
J| 64,020
= 64,020
ot MEtH S KSR BHXI(AFAN) 11,000 0 11,000
307 212t0| & 11,000 0 11,000
02 QIZEBAAIE E X 11,000 0 11,000
Ot MEH =X =&
150,000 x5 x12& 9,000
Oget M XS A HESIH|
200,000 x5 x23| 2,000
HE2AMMENSKNESXH X (2SKH) 153,648 127,440 26,208
J| 76,824
= 76,824
307 QI2t0| ™ 153,648 127,440 26,208
J| 76,824
= 76,824
02 QI2tAAMAIE E =X 153,648 127,440 26,208
Q024 MEHNSKEX BHXIAZE(6Y) 153,648
J| 76,824
= 76,824
HE24A MEHSXISX BEXI (KA 13,200 0 13,200
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- _ _ RE]

SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 13,200 0 13,200
02 QIZHA AAIE E X 13,200 0 13,200

Oooza MaEdsAEZA =&
150,000& x6H ~12& 10,800
OWE4 MEHSEATZA HESIH|
200,000 x6H x23| 2,400
AZ2AEH0EH XS 60,993 49,000 11,993
J| 42,696
= 5,489
= 12,808
307 212t0| & 60,993 49,000 11,993
J| 42,696
o= 5,489
= 12,808
02 DIZEEAAIRE E X 60,993 49,000 11,993
OAZ2AX0EA AIY 60,993
J| 42,696
= 5,489
= 12,808
HEAE &= 1,628,773 1,807,509 N 178,736
N 320,000
= 1,308,773

OIS dSAIA 174,200 73,509 100,691
401 AlEHIZL £ 0HY| 139,000 70,000 69,000
01 Al&H| 139,000 70,000 69,000

OsUHMSAE(OIASs0I7) a7 &X
8,000,000& 1004 &~ 80,000
OsUHMSAE (OS2I 7) ot E & X
300,000 13000 & 39,000
OsUMEANE RANEX 1,000,000 * 1004 & 10,000
OHOIE=E2HE X2 10,000
405 XHo&HF S HI 35,200 0 35,200
01 AL 2 FF S| 35,200 0 35,200
OAUHOIEEE 3D 2
200,000 * 130 A =2CH 5,200
OAUAHOIEEE MZE WA
3,000,000 * 1004 & 30,000
HEEEANLE XA (ME) 1,066,000 1,334,000 A 268,000
Xl 320,000
= 746,000
401 Al HI L 204 HI 1,066,000 1,334,000 A 268,000
N 320,000
= 746,000
01 Al&H| 1,062,176 1,329,215 A 267,039
OALEIS sxEERHE X4 1,062,176
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3 MsaY |4
S MSAE =25 (cho &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 320,000
s 742,176
03 Al 2 THHI 3,824 4,785 A 961
OAZEIE =HEIE &4
1,062, 176,000& *0.36% 3,824
OFIAICIEEZE HIOIE £X 100,000 70,000 30,000
401 Al HI K 201 I 100,000 70,000 30,000
01 A& HI 100,000 70,000 30,000
OZ4t OFANMOIE=ZE HIOHE 4&X
70,000,000& =14 2 70,000
OYH OIANMOIE=E & 4
30,000,000& =14 2 30,000
S22 E 29 238,573 0 238,573
101 @124l 238,573 0 238,573
04 JIZHHZ2XNSE+ 238,573 0 238,573
OaU=E ZA & tEA 182,434
—Jles 64,850 x5 250 81,063
— &0z 64,8503 x5 «100 32,425
—FRERESY 64,850 x5 x522 16,861
— QX 64,8503 x5 x12 3,891
— Azt =% 8, 1002 5 «35A1 2t 123 17,010
—suaeLy 97,2708 x5 % x62 2,919
— 428 = 154,168, 1002 * 10% 15,417
— &&= 2,569,470& x5H 12,848
OMU4+ZH 49 La2Y
500,000& x5 «12& 30,000
Oa=+=gZd A& 26,139
—dU=ZF FA 51,7603 x2H 52 x50F 25,880
—dTHEEZ 25,880,000 *1% 259
mI="d LAY 30,000 0 30,000
401 Al HI K 201 Y] 30,000 0 30,000
01 A& HI 30,000 0 30,000
Oma="d ZH(AANEHESNR) 30,000
B HNOESE SHA &X 20,000 0 20,000
401 Al HIZ 201 8] 20,000 0 20,000
01 A& HI 20,000 0 20,000
O &ZE HNOESH SHE £X 20,000
SEHSsALE 2 1,097,067 1,081,610 15,457
FRALE 222 810,965 568,627 242,338
101 14l 72,743 69,453 3,290
4 D12t ZE2XRHEES 72,743 69,453 3,290
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EAM AZXAAD
FM: HsdE 84
& SEHSAL 2 (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
—XEES @OANE o8ad o FoIEA
= 6,500,000& *13| 6,500
~- FOHSHE ASS AHIS £48
5,000,000& *13| 5,000
OdHALZ=Z S &H| 7,000 x5 x40 1,400
OSEg2sd AL el dodolE &l
A= 5,000
02 22224l 390,291 346,988 43,303
OZ22223 ¥ HAl 295,161
~HIQB(MSD, AWLYT, 5EFIIT)
20,000,000& x12& 240,000
—&ot=ER3 4,500,000& x12& 54,000
—QHY 23 62,0003 x12& 744
—RdYS AER 26,400 x12& 317
— WS A DAL MoPH2
100, 000& * 13l 100
oozl 38,930
—AUHSE U ARHI(ZAIA)
1,0703 #450m' x 15 x4 2 28,890
—maesy Uy (YY)
1,200& x304 *8A| 2t+30 8,640
—SYEEX A2H(ME&H, 82 S)
1,400 204 *5CH =10 1,400
OAEZHl |XE=HI 56,000
— &l ¥ Al 2el 40,000
— &I W2 Y (LY S)ud
1,000, 000& 12l 1,000
—EFEERE, HUAE 2kw 2t0IE, OHE
Jl WAl 700,000 * 104 7,000
— CCTV DVR Xl 5,000,000& =14l 5,000
—ZUMSHH o0 HDY JH € Fa
3,000,000& =14 3,000
O=2&Z 3t&4 =Xl #AH 200,000 13 200
202 odl 1,800 1,800 0
01 = LH o4 1l 1,800 1,800 0
OMSAE 22| ¢ g (22 )u=s
60,0003 x2H x152 1,800
206 M= Hl 19,225 37,089 A 17,864
01 = bl 19,225 37,089 A17,864
OZE2SE 2o HEAE S2HAUE 2
300,000& »23| 600
OHLIAZ 2228 FU (L3, Hg S)
200,000& »12& 2,400
O xZ=+ 22l Mg 7 7,000
—XxZs 2 s 2 AWFY 5,000
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2M A=A
FM: HsdE 84
Hel: SEHSAE 2L (&)
SA - BB B () - MM - BES Ol &t o San HmEET
— AQZEIE tkw 2t0IE, 2tF I wXl
217,000 10K 2,170
— &LHZ D& 250w 2t0lE, 2t& D] Xl
100,000& = 10K 1,000
— & HZIIE 400w 20IE L OHED| WX
200,000& =104 2,000
— A& |X 22 3,000
401 AIEHI L 2 CHYI 60,000 25,000 35,000
01 A& HI 60,000 25,000 35,000
OOFAZE I E (ML) A &A B 5,000
O&WHEFZE L0 =2F WA 30,000
CaAUE2E NS 5= E= 25,000
SEAUH=ZE 22l 192,252 448,893 A 256,641
201 2et2d]| 166,572 176,420 A9,848
01 At 2teltl 36,184 27,860 8,324
O+t 34,504
— &8 FY(MYIISF, ELAEE 5)
200,000& =128 2,400
— St ZEH 7Y 20,0003 *4H A+123 960
—AIR(SH) 2 L ME 300,000& 18] 300
— MY AZ2F PSS, MEA S)
50,0003 204 A %12 1,200
—HIIEE Y (EZE2 58)
100,000& =122 1,200
—JIHEE P (LE L HioHY)
100,000& =128 1,200
— &0 22l (2, & - o g94)
50,0003 =401 122 2,400
— 208N &5 ¢HE F2¢ 5,000& 5004 2,500
— 3228 I 2Y 2,000& 50004 1,000
— A28 IIME 7Y
2,000& #5004 201 2~ »23| 400
—gx 2 Y3 FA  9,000&*400E *23] 7,200
—29% SOAMBE 22A/N 2Y
1,000& 5004 500
—AYANE FE =8 200,000 12 2,400
—352J E&d =2 165,000& =128 1,980
—Ro0ZHEA =2 132,000& 128 1,584
—JHEAB =2 300,000& =102 3,000
— =YY FI| U A5 442
400,000& »2CH 800
— sS4 S2TAN 22E 40,0008 * 122 480
— gAY =2 300,000& 102 3,000
OotZ I =l 7,000 «1H =202 <123 1,680




SH: AEEAAD
o HSAY K4
©e: SERAHSALTL EERED
SN EH - (EH) - HRAY - BES 0] &k o4 il Hl D2
EEETTT 130,388 148,560 £18,172
ozZzZ2gYl 2 HA 1,756
—oHYe3 52,0008 x23| &1« 128 1,248
- Ru%s A 4,50094 #2CH * 122 108
—JtA HHA Y BEEE 200,000& »23| 400
OA & ZHIR bl 25,600
—HMAAY RX B2 800,000% * 128 9,600
—FH ¥ Aae 10,000
— O{2tD G{DHH LA 6,000
oozl 103,032
—AWAYT Uy HABH(ZADA)
1,070%1 +300 " 262 » 122 100,152
—AUAYT UY HASHI(IR)
1,20091 +4002 *62 2,880
202 04t 720 720 0
01 =LK o1l 720 720 0
O+Y® 84 +FAM 60,0008 *1%+123] 720
206 TH 2 bl 16,960 20,440 ~3,480
R 16,960 20,440 3,480
OF4I 2 147 BN
12,0008 * 102 Cf » 122 1,440
OELp!] 15,0008 * 105 * 122 1,800
OAIISE AEB(HLALSH)
11,0008+ 105 * 122 1,320
OF+8 %E(PHEE) 15,0008 *5 5+ 122 900
O%Z(PH, Y4 SEH)SY BI
600, 0002 =2CH 1,200
OUAZXE DHOI2ZH 4,000 +2004 800
OPH, g4 =FI| MA 700,000% =24 1,400
o= HB 50,0002 «25 * 128 1,200
OFHY HI2HZIE LE2S
6,000,000 *13] 6,000
O+YZx HA2% T 50,0008 *63! 900
401 NEHIL2THEI 7,400 4,000 3,400
01 Al bl 7,400 4,000 3,400
o=ge Mz ¥ Tl 2,000, 000! *2CH 4,000
O+9® +Hel WU AZYX wosx 3,400
405 Tk &HF St 600 4,000 A3,400
01 T 2B S 600 4,000 A3,400
oMY BSEH AU 2Y 600
AE Y BEAMYL B2 174,944 170,941 4,003
= 52,402
< 25,871
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B A A
MY AE Y DTAMAL B
Sl YMIABAL XS (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ORYHEAE MY IIE2E K&
8,000 *30H A x12& 2,880
OSAI23NE 24N HEEDI| XA
30,000 *100H A x3= 9,000
OABMZ(EE) & M2 I
8,000 x30004 & 2,400
222 AAAS 0PIH40l &9 16,500 21,500 A5,000
201 et d| 2,700 2,000 700
01 AP 22| H| 2,700 2,000 700
OQAAZY Mate 2 (BB DHHE S)
45 000 *30H *x23| 2,700
206 M = Hl 2,750 0 2,750
01 =4l 2,750 0 2,750
Oxcelads ME&H| 550,000& x53| 2,750
301 LBt A= 11,050 19,500 N 8,450
09 SHAIAHI EAZ 1,050 19,500 A 18,450
Oa A obatdio] &A B4k
33,5002 x30H 103 1,050
11 JIEtE A= 10,000 0 10,000
OZAF (02 & BEX) 1,000,000& =103/ 10,000
EHEFANE N 22 900 1,200 A 300
SSAE £=HEA 900 1,200 A 300
202 04 d| 900 1,200 A 300
01 2Ll 900 1,200 A 300
OMESs & SRSASH L 2A2:
60,000 *3H x5 900
AELMOLA X &= 104,804 106,731 N 1,927
= 52,402
= 25,871
= 26,531
HElo| JIsAaE deaed 29 3,000 104,900 A 101,900
= 1,500
& 750
= 750
301 LBt A= 3,000 4,900 A 1,900
= 1,500
& 750
= 750
11 JIEIE A= 3,000 4,900 A 1,900
OORIOIDIBAE Hgpeld #SH|
50,000 »60H 3,000
= 1,500
& 750
= 750
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1«6 H *10Al 2t+ 128
D *10Al 2t+ 128

4«5 H *10AI 2t 128
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10,682
9,649
8,663




A IR AL
HYSF I (AT AT
ol 2o bl (B9 ®R)
SN FE - EA(SA) - MRAY - BES il Bl RE2
OxM=22=¢ 9,206 13 «32A1 2t 123 45,957
02 JIEt& B = 8,323 7,666 657
OFAZZ (154 olat) 8,323
— ARSI TRAG(FUR)
8,256 x2EH «10Al 2tx 1228 1,982
—ZUZRE 8,256 «2H «32A1 2t 123 6,341
03 RIHAZ 2N 2= 7,455 5,987 1,468
OaUll=gd 22X(2¥) 6,678
—ZU2ZRE 6,470 «2H «40Al 2t <123 6,212
—52Z2RE 51,7603« 1H 62 «150% 466
OMRA Z2X(1Y) 77
—XU2FRE 6,4703 1H «10Al 2tx 1228 7
=223l 100,377 119,813 A 19,436
JlE2&l 100,377 119,813 A 19,436
201 Let2d] 69,787 87,223 A17,436
01 At 22l 69,787 86,523 A 16,736
Ogtt=ZHl SHA & 19,293,000& *50% 9,647
O=&Hl SUA & 14,240,000& *50% 7,120
o2g+g 53,020
— 243 60,0003 x2H 118 14,160
-2 (5Y) 60,0002 x2H » 118 14,160
— =3 50,000 x2H 247 24,700
202 Oddl 27,590 29,590 A 2,000
01 = LH 4 Hi 27,590 29,590 A2,000
O3 (2LH) 18,950
O3 (=22) 8,640
203 YR =&l 3,000 3,000 0
04 FENSELR=LH| 3,000 3,000 0
ORN2IYS =2 250,000& »12& 3,000




